Item-nr. |Description Number
0290991 |tube link f. castor wheel NML 1
0290992 |assembly parts for mounting castor wheel 1
Q 1106200
@
0455076/ Q
0455086 > ) 0409026
T e 8210500
e &
0290991

I
( (

assembly parts for mounting castor wheel

Item-nr. |Description Number
0390490 |wheel 400x8 non puncture 1
0409026 |strap 60mm for strap clamp
0455076 |threaded strap M10/48x75mm galv.
0456086 |threaded strap M10/60x90mm galv.
1106200 |stopper 60mm

Replace pre-assembled bolt 8210500 |self locking nylon nut M10 galv.
M12x18 at the wheel with the . . .
included bolt M12x30 + lock washer | castor wheel for barriers, including 2 strap

clamps for mounting to 48/60mm

O|lRr | BN

0290090 °°

d Number: 0290990-0
SPINOCer . o
DAIRY HOUSING CONCEPTS Date: 5_12_20’]8

Tekening blijft ons e%endom en mag niet gekopieerd, aan derden getoond of op andere wijze worden gebruikt.
Aan de gegevens op deze tekening kunnen geen rechten worden ontleend.




Item-nr. |Description A

0311900 |opening for drinking bowl 95x55cm compl 0311902

0311950 |opening for drinking bowl 95x85cm compl 0311952

7112070 0313900 |opening for drinking bow! 112x55cm compl 0313902

8212500

0313950 |opening for drinking bowl 112x85cm compl 0313952

Item-nr. |Description Number
7112070 |hexagon-head bolt M12x70 galv. 2
8212500 |self locking nylon nut M12 galv. 2

A opening for drinking bowl 1

opening for drinking bow! compl

d Number: 031x9x0-0
S p I I l er Unit: mm
DAIRY HOUSING CONCEPTS Date: 26-8-2019

Drawing remains our property and may not be reproduced, shown or entrust to third party or used otherwise.
No rights can be derived from this drawing.




]

Installing instructions removable partition barriers:

- install the locking and pivoting points

- install the partition barrier with passage

- Adjust the barrier to size and mount the M10x60mm bolts (drill hole @11mm)

0318610

7110060

: g 8210500

S

Item-nr. |Description Number
0318610 |passage for barrier 79cm mounted 1
7110060 |hexagon-head bolt M10x60 galv. 2
8210500 |self locking nylon nut M10 galv. 2
passage for partition barrier 79cm
Number: 0318600-0
splncler ot Jmm

DAIRY HOUSING CONCEPTS Date:

7-10-2019

Aan de gegevens op deze tekening

Tekening blijft ons eigendom en mag niet gekopieerd, aan derden getoond of op andere wijze worden gebruikt.

unnen geen rechten worden ontleend.




M

160

7112100
8212500

0290901

8220500

Item-nr. |Description Number
0290901 |bearing bush r20x4 L=62mm 2
0390202 |hinge M20 for partition barrier 2
0390285 |fastener 60mm/76mm/wall 2
0390452 |universal locking point wall/76mm 1
7112100 |hexagon-head bolt M12x100 galv. 2
8212500 |self locking nylon nut M12 galv. 2
8220100 |hexagon nut M20 galv. 4
8220500 |self locking nylon nut M20 2
8320100 |washer M20 (20x37x3) 4
mounting kit adjustable pivot M20

Number: 0326050-0

spinder .. -
DAIRY HOUSING CONCEPTS Date: 16-6-2021

Drawing remains our property and may not be reproduced, shown or entrust to third party or used otherwise.

No rights can be derived from this drawing.




m

7112080

8212500

Order-nr. Description Number
0313902 |opening for drinking bowl 112x55cm 1
8212500 |self locking nylon nut M12 galv. 2
7112070 |hexagon-head bolt M12x70 galv. 2

opening for drinking bowl 122x55cm

compl

spinder

DAIRY HOUSING CONCEPTS

Number: 0331900-0
Unit: mm
Date: 6-8-2015

Tekening blijft ons eigendom en mag niet gekopieerd, aan derden getoond of op andere wijze worden gebruikt.
Aan de gegevens op deze tekening kunnen geen rechten worden ontleend.




UK Item-nr. [Description A
0390100 |support post for gate of 79cm high 0390101
0390110 |support post for gate of 53cm high 0390111
0390120 |support post for gate of 112cm high 0390121
0390130 |support post for gate of 95cm high 0390131
7112090
8212500
~N
o
(@)}
(@}
~
m
n
Item-nr. |Description Number
7112090 |hexagon-head bolt M12x90 galv. 2
8212500 |self locking nylon nut M12 galv. 2
A support post 1
support post for part.barrier
' Number: 03901x0-0
S p I I l e r Unit: mm
DAIRY HOUSING CONCEPTS Date: 26-8-2019

Drawing remains our property and may not be reproduced, shown or entrust to third party or used otherwise.

No rights can be derived from this drawing.




M

(@SN

0408005

7110050

0408006

7310070

8210400

0412021

0190130

Item-nr.

Description

Number

0190130

tube 1,5"x20cm

0408005

cross plate for cross clamp

0408006

sd-strap 48mm

0412021

plate for T-clamp 48x48mm

7110040

hexagon-head tap bolt M10x40 galv

7110050

hexagon-head bolt M10x50 galv.

7310070

coach bolt m10x70 galv.

8210400

self locking capped nut M10 galv.

NIN| PO INN

assembly part support post/feed front

spinder ..

Number: 0390190-0
mm
Date: 23-3-2018

Drawing remains our property and may not be reproduced, shown or entrust to third party or used otherwise.

No rights can be derived from this drawing.




o

79/95/112/122

8220500 ﬁ N
8320100

A

H

B

€

8212500

8320100
8220100

0290901

0390202

0457251
8210500

7112100
8212500

Item-nr. |Description A B
0390250 |adjustable pivot for barrier 79cm 48mm 0390253 7112070
0390255 |adjustable pivot for barrier 95cm 48mm 0390257 7112070
0390260 |adjustable pivot for barrier 112cm 48mm 0390262 7112070
0390270 |adjustable pivot for barrier 122cm 60mm 0390272 7112080
Item-nr. |Description Number
0290901 |bearing bush r20x4 L=62mm 2
0390202 |hinge M20 for partition barrier 2
0390285 |fastener 60mm/76mm/wall 2
S 0457251 |threaded strap M10/76x105 mm galv. 4
g 7112100 |hexagon-head bolt M12x100 galv. 2
b 8210500 |self locking nylon nut M10 galv. 8
S 8212500 |self locking nylon nut M12 galv. 4
Ny 8220100 |hexagon nut M20 galv. 4
§ 8220500 |self locking nylon nut M20 2
8320100 |washer M20 (20x37x3) 4
A mounting tube adjustable pivot M20 1
B hexagon-head bolt M12 galv. 2
adjustable pivot for barrier
l
I Number: 039202xx-O
SIDII I er Unit: mm
DAIRY HOUSING CONCEPTS Date: 25-5-2021
Drawing remains our property an?\lom?i)éﬁtztcgi ?grd%eikl/i%dﬁ%lﬁﬁ?i:{i;%;gg to third party or used otherwise.




7112100
8212500

Order-nr. Description Number
0390285 |fastener 60mm/76mm/wall 2
7112100 |hexagon-head bolt M12x100 galv. 2
8212500 |self locking nylon nut M12 galv. 2
set of fasteners 60mm/wall

Number: 0390280-0

splncler unit -
DAIRY HOUSING CONCEPTS Date: 16-6-2021

Tekening blijft ons eigendom en mag niet gekopieerd, aan derden getoond of op andere wijze worden gebruikt.
Aan de gegevens op deze tekening kunnen geen rechten worden ontleend.




7112090
8212100

Order-nr. Description Number
0390305 |wall fastener 60/180degr. 2
7112090 |hexagon-head bolt m12x90 galv. 2
8212100 |hexagon nut M12 galv. 2

set of wall fasteners 60/180 degr.

Number: 0390300-0
splnder Unit -
DAIRY HOUSING CONCEPTS Date: 6-8-2015

Tekening blijft ons eigendom en mag niet gekopieerd, aan derden getoond of op andere wijze worden gebruikt.
Aan de gegevens op deze tekening kunnen geen rechten worden ontleend.




M

7112090

8212100

Order-nr. Description Number
0390315 |wall fastener 60/90degr. 2
7112090 |hexagon-head bolt m12x90 galv. 2
8212100 |hexagon nut M12 galv. 2
set of wall fasteners 60/90 degr.
Number: 0390310-0
splnder ol
DAIRY HOUSING CONCEPTS Date: 6-8-2015

Tekening blijft ons eigendom en mag niet gekopieerd, aan derden getoond of op andere wijze worden gebruikt.
Aan de gegevens op deze tekening kunnen geen rechten worden ontleend.




7112100
8212100

Order-nr. Description Number
0390306 |wall fastener 70/180degr. 2
7112100 |hexagon-head bolt M12x100 galv. 2
8212100 |hexagon nut M12 galv. 2

set of wall fasteners 70/180 degr.

Number: 0390311-0
splncler onit -
DAIRY HOUSING CONCEPTS Date: 6-8-2015

Tekening blijft ons eigendom en mag niet gekopieerd, aan derden getoond of op andere wijze worden gebruikt.
Aan de gegevens op deze tekening kunnen geen rechten worden ontleend.




M

7112100

8212100

Order-nr. Description Number
0390316 |wall fastener 70/90degr. 2
7112100 |hexagon-head bolt M12x100 galv. 2
8212100 |hexagon nut M12 galv. 2
set of wall fasteners 70/90 degr.
Number: 0390312-0
splncler ol
DAIRY HOUSING CONCEPTS Date: 6-8-2015

Tekening blijft ons eigendom en mag niet gekopieerd, aan derden getoond of op andere wijze worden gebruikt.
Aan de gegevens op deze tekening kunnen geen rechten worden ontleend.




7112100
8212500

Order-nr. Description Number
0390335 |universal fastener 2
7112100 |hexagon-head bolt M12x100 galv. 2
8212500 |self locking nylon nut M12 galv. 2

set of universal fasteners, to wall

Number: 0390330-0
splncler onit -
DAIRY HOUSING CONCEPTS Date: 18-9-2017

Tekening blijft ons eigendom en mag niet gekopieerd, aan derden getoond of op andere wijze worden gebruikt.
Aan de gegevens op deze tekening kunnen geen rechten worden ontleend.




M

7112100
8212500

C E ) 7310030
8210500

0390335

Item-nr. |Description A
0390331 |set of universal fasteners, to 60mm 0418020
0390332 |set of universal fasteners, to 76mm 0418025
0390333 |set of universal fasteners, to 89mm 0418030
Order-nr. Description Number
0390335 |universal fastener 2
7112100 |hexagon-head bolt M12x100 galv. 2
7310030 |coach bolt M10x30 galv. 4
8210500 |self locking nylon nut M10 galv. 4
8212500 |self locking nylon nut M12 galv. 2
A mounting clip 2
set of universal fasteners
l Number: 039033x-0
S p I I l e r Unit: mm
DAIRY HOUSING CONCEPTS Date: 28-8-2019

No rights can be derived from this drawing.

Drawing remains our property and may not be reproduced, shown or entrust to third party or used otherwise.




0390401

R

1140970

Order-nr. Description Number
0390401 |locking pin 100cm, lock pin excl. 1
1140970 |lock pin r4,5 nr. 280 1
locking pin 100cm, lock pin incl.
d Number: 0390400-0
S p I I l e r Unit: mm
DAIRY HOUSING CONCEPTS Date: 1-12-2015

Tekening blijft ons eigendom en mag niet gekopieerd, aan derden getoond of op andere wijze worden gebruikt.
Aan de gegevens op deze tekening kunnen geen rechten worden ontleend.




0390401

1140970

(I

Order-nr. Description Number
0390411 |locking pin 125cm, lock pin excl. 1
1140970 |lock pin r4,5 nr. 280 1
locking pin 125cm, lock pin incl.
Number: 0390410-0
splnder ot |mm
DAIRY HOUSING CONCEPTS Date: 1-12-2015

Tekening blijft ons eigendom en mag niet gekopieerd, aan derden getoond of op andere wijze worden gebruikt.
Aan de gegevens op deze tekening kunnen geen rechten worden ontleend.




0390452

0457251

Item-nr. |Description Number
0390452 |universal locking point wall/76mm 1
0457251 |threaded strap M10/76x105 mm galv. 2
8210500 |self locking nylon nut M10 galv. 4
locking point for standpost 76mm

l Number: 0390445-0

S p I I l e r Unit: mm
DAIRY HOUSING CONCEPTS Date: 25-3-2019

Drawing remains our property and may not be reproduced, shown or entrust to third party or used otherwise.
No rights can be derived from this drawing.




53/79/95/112

Item-nr. |Description A
0390450 |universal locking point 53cm/76mm 0390451
0390460 |universal locking point 79cm/76mm 0390461
0390465 |universal locking point 95cm/76mm 0390466
0390470 |universal locking point 112cm/76mm 0390471
7310070
8210400
0412021
A
0390452
0457251
o 8210500
R Order-nr. Description Number
-~ 0390452 |universal locking point wall/76mm 1
0412021 |plate for T-clamp 48x48mm 4
0457251 |threaded strap M10/76x105 mm galv. 2
7310070 |coach bolt M10x70 galv. 2
8210400 |self locking capped nut M10 galv. 2
8210500 |self locking nylon nut M10 galv. 4
A compos.universal locking point 1
universal locking point /76mm
l Number: 03904xx-0
S p I I l e r Unit: mm
DAIRY HOUSING CONCEPTS Date: 28-8-2019

Drawing remains our property and may not be reproduced, shown or entrust to third party or used otherwise.

No rights can be derived from this drawing.




0390461

7310070
8210400

. 0412021

Order-nr. Description Number
0390461 |compos.universal locking point 79cm/76mm 1
0412021 |plate for T-clamp 48x48mm 4
7310070 |coach bolt m10x70 galv. 2
8210400 |self locking capped nut M10 galv. 2

universal locking point 79cm

spinder ... -

Number: 0390462-0

RY HOUSING CONCEPTS Date: 1-12-2015

Tekening blijft ons eigendom en mag niet gekopieerd, aan derden getoond of op andere wijze worden gebruikt.
Aan de gegevens op deze tekening kunnen geen rechten worden ontleend.




m

7112080

8212500

S i f 0413021
/Q

e
-
[ |®

0390481

0457251
8210500

Order-nr. |Description Number
0390452 |universal locking point wall/76mm 1
0390481 |compos.univ. locking point 122cm/76mm 1
0413021 |plate for T-clamp 48x60mm, heavy version 4
0457251 |threaded strap M10/76x105 mm galv. 2
7112080 |hexagon-head bolt M12x80 galv. 4
8210500 |self locking nylon nut M10 galv. 4
8212500 |self locking nylon nut M12 galv. 4
universal locking point 122cm/76mm

Number: 0390480-0
spinder ... -
DAIRY HOUSING CONCEPTS Date: 4-8-2015

Tekening blijft ons eigendom en mag niet gekopieerd, aan derden getoond of op andere wijze worden gebruikt.
Aan de gegevens op deze tekening kunnen geen rechten worden ontleend.




Item-nr. |Description A

0390610 |set of fasteners for 1 part. 76mm 0390611
0390620 |set of fasteners for 2 part. 76mm/180dgr 0390621
0390625 |set of fasteners for 2 part. 76mm/90dgr 0390626

&
¢

0390610 0390620

Ti 0390630 |Satz Bef.-Teile 2,5" / 3 Gitter 0390631

8212500

@
E 7112090

Item-nr. |Description Number

7112090 |hexagon-head bolt M12x90 galv. 2/4/6

7112820 |set screw M12x20 galvanized 4

set of fasteners for 76mm

8212100 |hexagon nut M12 galv. 4
17112820 8212500 |self locking nylon nut M12 galv. 2/4/6
8212100 A fastener for 76mm 2

' Number: 03906xx-0
SIDII l er Unit: mm
0390625 0390630 DAIRY HOUSING CONCEPTS Date: 2-9-2019

Drawing remains our property and may not be reproduced, shown or entrust to third party or used otherwise.
No rights can be derived from this drawing.




]

0390710

{7
¥

0390720

0390725

¥
¥

0390730

7112100
8212500

7112820
8212100

Item-nr. |Description A
0390710 |set of fasteners for 1 part. 80mmx80mm 0390711
0390720 |set of fasteners for 2 part.80x80/180dgr 0390721
0390725 |set of fasteners for 2 part.80x80/90dgr 0390726
0390730 |set of fasteners for 3 part. 80mmx80mm 0390731
Item-nr. |Description Number
7112100 |hexagon-head bolt M12x100 galv. 2/4/6
7112820 |set screw M12x20 galvanized 4
8212100 |hexagon nut M12 galv. 4
8212500 |self locking nylon nut M12 galv. 2/4/6
A fastener 80mmx80mm 2
set of fasteners for 80x80
d Number: 03907xx-O
s p I I l e r Unit: mm
DAIRY HOUSING CONCEPTS Date: 2-9-2019

No rights can be derived from this drawing.

Drawing remains our property and may not be reproduced, shown or entrust to third party or used otherwise.




M

ca. 2000

@

7112090
10290901 |
8212100
0390335
7310030
1140930 8210100
9 0391310
" 0391320
Item-nr. Description Number
7110050 0290901 |bearing bush r20x4 L=62mm 1
8210100 0390335 |universal fastener 1
0391310 |pivot for gate rotatable 1
0391320 |steel cable 8mm stainless steel x 4 mtr 1
0408006/0408007 0408006 |sd-strap 48mm 2
@ 0408007 |sd-strap 60mm 2
1140930 |bow shackle r10x3/8" 1
%) 1141960 |wire-clamp 8mm 4
7110050 |hexagon-head bolt M10x50 galv. 2
7112090 |hexagon-head bolt m12x90 galv. 1
7112910 |turnbuckle M12 eye/eye galv. 1
7310030 |coach bolt M10x30 galv. 2
8210100 |hexagon nut M10 galv. 4
8212100 |hexagon nut M12 galv. 1
angle brace set for gate, 48 and 60 mm
Number: 0391300-0
splncler ot Jmm
DAIRY HOUSING CONCEPTS Date: 22-3-2018
ha G ophent op e JkamIG Funnc Somn rechian worden ontioand | OF nere wize worden gebrulk




pair of extension tubes D=38mm

L=150cm

spinder

DAIRY HOUSING CONCEPTS

Number: 0391400-0
Unit: mm
Date: 8-12-2015

Tekening blijft ons eigendom en mag niet gekopieerd, aan derden getoond of op andere wijze worden gebruikt.
Aan de gegevens op deze tekening kunnen geen rechten worden ontleend.




